HENEFY2

(HALEENIHE ->2HY)

F M8 BE( )
(1 6+8X(11-5) (7) (9X2+16)+2
2 (8XT7—10)+2 (8) gX8—9+3
3) 2+(15—=13)X8 @) 3X(6—12+4)
4) (8—6)X4+3 (10) 9XgG+T X6
(5) 4+6+2—2 (1) IX(7-2)+3
6) IX(7+15+5) (12) 4X(6+4)+4
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HENEFY2

(HALEENIHE ->2HY)

() 6+8X(I1-=5)
= 6+8X%X6

= 6+48

= b4

2) (8XT7—10)+2
= (56—10)+2
= 46+2
= 23

3) 2+(15—13)x8
= 2428

= 24+16

- 18

4) (8—6)X4+3
= 2X4+3

= 8+3

= ||

(5) 4+6+2—2
= 4+3-2

= 7-2

=5

&) 9X(7+15+5H)
= GX(7+3)

= 9XI10

=90
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B & (

(7) (IX2+16)+2
= (18+16)+2
= 34+2
= 17

8) 9X8—9+3
=72—3
= 69

@ 3X(6—12+4)
= 3X(6—3)

= 3X3

=9

(10) GXG+7X6
= 381+42
=123

(1 9xX(7-2)+3
= gX5+3
= 45+3
=15

(12) 4X(6+4)+4
= 4X10+4
= 40+4
=10



